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QUESTION 1

Which two tasks can be accomplished using the OpenAdmin Tool (OAT)? (Choose two.) 

A. Manage Virtual Processors (VP). 

B. Automate the update statistics process. 

C. Perform installation of an Informix server. 

D. Run the High Performance Loader (HPL) GUI tool. 

E. Remove an instance\\'s orphaned shared memory segment. 

Correct Answer: AB 

 

QUESTION 2

Which Informix utility listed below will allow an administrator to run ad hoc SQL against the instance? 

A. onsql 

B. onadmin 

C. dbaccess 

D. dbschema 

Correct Answer: C 

 

QUESTION 3

When installing Informix, which two installation methods can be used? (Choose two.) 

A. quiet 

B. native 

C. staged 

D. console 

E. graphical 

Correct Answer: DE 

 

QUESTION 4

You received an error, "Chunk is not empty", while trying to remove a chunk. How do you verify which objects still
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occupy space in the chunk? 

A. onspaces 

B. onmonitor 

C. oncheck -pe 

D. SELECT * from SYSTABLES 

Correct Answer: C 

 

QUESTION 5

Which of the following is required for a cold restore? 

A. A restore that includes the rootdbs 

B. A restore that includes temp dbspaces 

C. A restore that includes only non-critical dbspaces. 

D. A restore that includes multiple level to be restored. 

Correct Answer: A 
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